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| % Chuyén doi phan tram thanh s6 thap phan

Tén:_ Ngaythang:_ Piém:__
1,96 = % 1,53 = %
1,95 = % 1,51 = %
1,02 = % 1,81 = %
1,61 = % 1,92 = %
0,26 = % 0,63 = %
0,78 = % 0,61 = %
1,08 = % 1,83 = %
0,5= % 0,92 = %
1,72 = % 1,03 = %
0,98 = % 0, 66 = %

www.snowmath.com



https://www.snowmath.com

TS
& | [Es

Chuyén d6i phan tram thanh sb thap phan

Tén:

1,96 = 196%

1,95 =195%

1,02 =102%

1,61 =161%

0,26 = 26%

0,78 =78%

1,08 = 108%

0,5 =50%

1,72 =172%

0, 98 = 98%

Ngay thang: Piém:

1,53 =153%

1,51 =151%

1,81 = 181%

1,92 =192%

0,63 = 63%

0,61 =61%

1,83 =183%

0,92 =92%

1,03 =103%

0, 66 = 66%
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